import processing.serial.®;
Serial myPort;

PrintWriter output;

[Fe================== B HEF ==================%*/
intx; //BE D X AR D % HE

int NUM =6; //& v ¥ — DK

int[] receivedData = new int[NUM]; [/ v ¥ — Dl %S ALY
int secondlentM = 0; // OUT 2 — X%y

int secondlentS = 0; // OUT a — x:f

int secondITIME = 0; // OUT 2 — X:2 v 5

int inTime m=0; //IN 22— 2:%>

int inTime s =0; //IN =22 — x:#

intinTime ¢=0; //INa—x:&2v 5%

int BsecondIentM = 0; // OUT 22— X497

int BsecondIentS = 0; // OUT =2 — & :/

int BsecondITIME = 0; // OUT 2 —X:& v 5
int BinTime m=0; //IN 22— Xx:%

int BinTime s =0; //IN 22— X:f

int BinTime ¢=0; //IN a2 —X:% v 5

int couseoutIN = 0;
int couseoutOUT = 0;
int cntIN = 0;

int cntOUT = 0;

void setup(O){
// B A4 X
size (1080, 780); // 1024 x 768 72 & T U5 1080*780 size(1080,
780);
textFont(createFont("x", 15)); // HAZE R H, "—Y a v 7 v 7 TAHRE?
myPort = new Serial(this,"COMS8",250000);

void draw(){
/] ZAG Ny 7 7 O 1 22 BOT AN
secondlcntM = receivedDatal2];

secondlcntS = receivedData[3];
secondITIME = receivedData[0];



inTime m = receivedData[4];
inTime_s = receivedData[5];

inTime c = receivedData[1];

/] ey FROANTANTDT — 2R ICHES
String outTime = nf(secondlcntM, 2)+":"+nf(secondlcntS, 2)+":"+nf(secondITIME, 2);

non non

String inTime = nf(inTime_m, 2)+":"+nf(inTime_s, 2)+":"+nf(inTime_c, 2);

println(outTime); [/ TNy RN
println(inTime); /] TNy SR
background(255); /] BEZEEC-ATEHEYONT

//===0UT a2 — 2 & 4 LE r===
if(couseoutOUT == 0){

textSize(90); /] XFH A X 90

fill(0, 0, 255); // S F:BLUE

text("OUT", 30, height*15/100); // &"3 % 7 * R b, x FEFE, y FEEE  30,15/100
}
if(couseoutOUT == 1){

textSize(90); /] LFH A X 90

fill(0, 0, 255); // 7 :BLUE

text("OUT 22—=27 v ", 30, height*15/100); // F/R"$ 25 7 F X b, x JEE, v FEE
30,15/100

}
textSize(220); /] XEHA X 220
£il1(0, 0, 255); // X F & :BLUE

text(outTime, 110, height*40/100);//80,40/100

//===IN a2 — 2 & f LF/R===

if(couseoutIN == 0){

textSize(90); /] XFH A4 X 90

fill(255, 0, 0); // XF ¢ :RED

text("IN", 30, height*65/100); // R~ F % 7 F X b, x R, y BEE  30,65/100
}

if(couseoutIN == 1){

textSize(90); /] XFEH A4 X 90

fill(255, 0, 0); // XF:RED



text("IN =2 — 27 v +", 30, height*65/100); // #x T2 7 ¥ 2 b, x FEE, v JEE
30,65/100

}
textSize(220); /] XEH A X 220
fill(255, 0, 0); // XF:RED

text(inTime, 110, height*90/100);//80,90/100

cntIN++;
cntOUT++;

if(secondIlentM != BsecondIentM || secondlentS != BsecondIentS || secondITIME !=

BsecondITIME || inTime m != BinTime m || inTime_s != BinTime s || inTime ¢ !=
BinTime c){
output.println("OUT"+ outTime + " : "4+ "IN" +inTime);

output.flush();

BsecondITIME = secondITIME;
BinTime ¢ = inTime_c;
BsecondIentM = secondlcntM;
BsecondIcentS = secondlentS;
BinTime m = inTime m;

BinTime_s = inTime_s;

}

void serialEvent(Serial p){
if ( myPort.available() >=7){ // ~v & + K7 —% <T&HFH 754 b
if (myPort.read() =="H'){ // ~v XXFx2HOoF 7L A2 0HAMS
receivedDatal[0] = myPort.read(); // OUT: 43 5 A &
receivedData[1] = myPort.read(); // OUT: &t A A &
receivedData[2] = myPort.read(); // OUT: & v F# 5t A &
receivedData[3] = myPort.read(); // IN: %35t & 3A &
receivedData[4] = myPort.read(); // IN: & & A &
receivedData[5] = myPort.read(); // IN: & ¥ F# 5 A &

}
}
}
void keyPressed(){
if (key == 'q'){

String filename = nf(year(),4) + nf(month(),2) + nf(day(),2) + nf(hour(),2) +
nf(minute(),2) ;



/] L7 7 A& ERK
output = createWriter( filename + ".csv");
¥
if(key == 'w'){
output.close();
¥
if(key == "i"){
if(couseoutIN == 0 && cntIN > 10){
cntIN = 0;
couseoutIN = 1;
}
if(couseoutIN == 1 && cntIN > 10){
cntIN = 0;

couseoutIN = 0;

}
if(key == 'o'){
if(couseoutOUT == 0 && cntOUT > 10){
cntOUT = 0;
couseoutOUT = 1;
}
if(couseoutOUT == 1 && cntOUT > 10){
cntOUT = 0;
couseoutOUT = 0;



